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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Tenel Fagey A9 Y U9 W A Aard: fad |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

[eft 7ed FA aafard €
All the questions are compulsory.
TS Y9 h1 IR &l g ITR-YRehl H & fead |

Write the answer to each question in the given answer-book
only.

o usAl o oafier @us €, 39 9t & I T Wy g fad |

For questions having more than one part, the answers to those
parts are to be written together in continuity.
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5. T 95 % fe<l 9 ISt ®UR H R gR & Jfe / T / oty
TR R &= W & g 6 W A
If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi

version should be treated valid.

6. WUE Prakiic) 3 Tk U9
S 1-8 1
El 9-14 2
q 15 - 24 3
< 25 - 30 5
Section Question Nos. Marks per question
A 1-8 1
B 9-14 2
C 15 - 24 3
D 25 - 30 5

7. U A 28 T 30 H A< famey ® |

There are internal choices in Q. No. 28 to 30.

o ug - A

Section - A

1. ifesm, FARA qen fafas § 9 -5 3uerg § 2

Out of sodium, chlorine and silicon which one is metalloid ? 1
2. oot foomm # 3<E yfa & faw pH %1 99 fhaT e g 2

What is the value of pH for a neutral solution ? 1
3. ©idt o €& ¥ €@ TH Al 3R &1 AW fafay |

Write the name of acid secreted from sting of ant. 1
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4. TAEIfeTd ¥ 9 YR 1 fagued urn S g ?

Which type of fission is found in Plasmodium ? 1

5. SgHYEA H TSI & AN H diodl § Ree &1 481 ®RE :1© 2

What is the main factor of sharply dropping the amount of ozone in

the atmosphere ? 1

6. foga Sf= &1 "mifea fo smEa |

Draw a labelled diagram of an electric generator. 1

7. U T Wihe ¥ TH & 999 W dgd 4 fogga aifersi 1 goifsa 3 9 1 g
g2

What happens on connecting too many appliances at a time to a single

socket ? 1

8. fweh faga siea % a # 300 C =W 5 fiye I& yanfeq g1 € | faga ufay
o garfea foga & 1 9ikEmr 3 wifse |

A charge of 300 C is drawn by a filament of an electric bulb for
5 minutes. Find the amount of electric current flowing through the

circuit. 1
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o g - o

Section - B

9. (31) Yerag sifufsran =1 weh Sereew difsu |
() S o dgd TIeA I AHIfRd & FARY |
(@) Give one example of redox reaction.
(b) Draw the labelled diagram of electrolytic decomposition of water.
1+1=2
10. Siamedt goM, 3o & fF9 TR & Hid & 2 fegl o et 69 & 9™ fafad |
Which type of energy sources are fossil fuels ? Write down any two
names of fossil fuels. 1+1=2
11. YT E¥CIO0 YW o SR B aTelt g &1 Hen fated |
Write any two events occurring during the process of photosynthesis.
1+1=2
12. AN Ud gagA 31 fhd wgd § 2 3% Seew dfsd |
What are homologous and analogous organs ? Write their examples.
1+1=2
13. wifaeh Yau fd sed € ? g gaq &1t oy fafgd |
What is vegetative propagation ? Write one advantage of vegetative
propagation. 1+1=2
14. (i) ST<Iel A i SR FHIET R Ydid aidl & 2
(i) @ HI Yael & SAHR HI THHT HA@T 9N Faf=g wa g ?
(i) Why does the sky appear dark to an astronaut ?
(ii) Which part of an eye adjusts the size of its pupil ? 1+1=2
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o g - |

Section - C

15. (1) difeaw gegramse &I fSie org | gH aret foven @ e areft f| &1 A m
fafaw | stfafsran o1 et ot fafEe |
(@) fr= 7 forwen ST ffan S € 2
(i) U AT S Sl S 9 ge s % fag
() YEER ¥ w@fee T e o o
(i) T T LA FSIA G HA H

(iv) Tadm don gsiee &1 9@ oA | |

(@  Give the name of the gas evolved when sodium hydroxide reacts

with zinc metal. Write the equation also.

(b)  Which is used in the following ?
(1) To make drinking water free from germs
(i) For making tasty crispy Pakoras in kitchen
(iii) To remove permanent hardness of water

(iv) For making toys and decorative materials. 1'+2 =3

16. (1) fowore sfufsran fd wead § 2

(a) fr=1 arfufsransi § A =1 Tg=nfT :
0] Zn + CuSO 4, — A + Cu

(ii) Na 2SO 4t BaCl2 — A + 2 NaCl.

(@) What is displacement reaction ?

(b)  Identify A in the following reactions :
(i) Zn + CuSO 4, — A + Cu

(i) Na,SO,+BaCl, = A + 2 NaCL 1+2
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17. (1) gmeentis g #ed § ?

(%) Tl < 3pe T4 & W fafew |

(¥) TH qc ol SR a2 2, 8, 27 | THh! oFf WA qUT HaAIStehal T

g ?

(a) Define Isotope.

(b)  Write the names of two inert gases.

(c) An element has 2, 8, 2 electronic configuration. Write its group

number and valency. 1+1+1=3

18. W goh / oTUEd F1 § 7 TR 3TN fafed |

What is an artificial kidney / haemodialysis ? Write the use of

haemodialysis. 1 % +1 é =3
19. Hpad ford w8d § 2 TEgl | g %l 9fes gaaEd |

What is budding ? Explain the budding in Hydra by the help of

diagram. 1+1+1=3
20. R qen Arel feiv gl & W fafed | R/ Ae w1 et i it

IEERCEIE

Write the names of male and female sex hormones. Draw a labelled

diagram of male endocrine glands. 1+2=3
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21. YIERO ! g9 & faQ 69 YR & ‘R’ &l T Hifsd |

Describe three types of ‘R’ to save the environment. 1+41+1=3
22. 319Ad UV % YA THIY Hl TRVIMG HifT | 3T Ul & <1 9 fafay |

Define the principal focus of a concave mirror. Write two uses of a

convex mirror. 1+1+1

1l
w

23. 39 & 799 1 H9F ST | 39 99 & Gam9q il 790 §R-1 99y |

State Ohm’s law. Describe an experiment to verify this law. 1 + 2 =3

24. < foga o 598 | T #1 ATEAIE 60 W, 220 V T T FH 40 W, 220 V

g, fag@ 220 v omyfd #0 & W dvEwd § €At © | Afe fog@ ey W

dieedr 220 V €, @ fagd a1 @ g fra um of S ® 2

Two lamps one rated 60 W, 220 V and the other 40 W, 220 V are
connected in parallel to a 220 V electric supply mains. What is the
total current drawn from the electric mains if the voltage of electric

supply is 220V ? 3
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o ug -

Section - D

25. (31) f=1 = 9y
@) WS
(i) fr=m |
() 3Iwagdl sifamse f6d wed § 2 W0 fodt & st 1 W fafay |
(W) diaa fora @ agedi ot fagug € 2
(@ Explain the following :
(i) Roasting
(i) Calcination.
(b) What are amphoteric oxides ? Write the name of such one oxide.
(c) By which two metals is brass alloy formed ? 2+2+1=5
26. WE-S@Al &I IRYMG Hiad | Th IRGT H el o A hl AG = &t
TR § GHA |
Define food chain. Describe the flow of energy in an ecosystem with
the help of a linear diagram. 1+2+2=5
27. T T AT w1 faw fafen | fordlt aRmEmet aierfas & fi wd 38 9
3 FHEdE &5 @ishi ol YShid & & fau 39w fo9 sArd | uaE]
gt 1 TeTaar ¥ fRdt R % BT & gw B HY dgan o © 2 o
AR U HIFST |
Write right-hand thumb rule. Draw necessary diagram to show lines
of magnetic field inside and around a current carrying solenoid. How
an iron rod can be converted into a magnet by using current carrying
solenoid ? Describe it giving suitable diagram. 1+1+2+1=5
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28. (1) TEgast o+ Rl F8d § ?
() I a1 T AT Soiae fog =1 IEY |
(@) =1 =+ IR0 TR FHSET ¢
(i) Hehe AfHfshan
() wfaeeraT stfufswan |
3Tar
(31) WA & fAsiefienton o1 T fafay qen fsieiteres =1 9m fafau |
() T Afirenl &1 @&t Foft ey -
HifiTeh Sroft
M = (2) STES BIEGIHIET
(i) i (b) T ST A W TS ehTe
(i) S (c) Toom TXHTY] g TR IHEA
(iv) ¥ Tehe@ () HOW SRS
(9) WA & Y I FT=HA sy |
(@) What do you mean by covalent bond ?
(b) Write the electron dot structure of methane and ethene.
() Explain the following with example :
(i) Addition reaction
(i) Displacement reaction. 1+2+2=5
OR
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(@) Write the dehydration reaction of ethanol and write the name of

dehydrating agent.

(b) Choose correct series for the following :

Compound Series
(i) Ethane (@) unsaturated hydrocarbon
(i) Benzene (b) long chained saturated hydrocarbon
(iii) Hexane (c) hydrocarbon having odd atom

(iv) Methyl alcohol (d) saturated hydrocarbon
(c) Draw the structure of soap molecule. 2+2+1=5H
29. dfsR1 wif¥reRt 1 AHifehd fost sAEA qen s9h! WA &1 fosga aviA IS |
S

TR A AT oA fRY wed © 7 fafvm vl g0 oS o1 & fa@ued
I THETEY |

Draw a labelled diagram of the neuron and describe the structure of

neuron in detail. 2+3=5

OR

What are aerobic and anaerobic respiration ? Describe the breakdown

of glucose molecule by various pathways. 1+1+3=5
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30.

11

(37) o9 i &THaT ol TR Sy |

(<)

)

(a)

AT 0 o FehlI¥reh shvs © 2 f |, q91 f | gl o 7ex feorq fopedt forg W
Teerq foama o1 gfafara s o T foptor o sAmga qen gfdfar &1 gehfd
fafaw |

ST YT T WEAE % ST W AT At g €, T g
g ?

SR

@ & < G U & A IaEd | Sk S B % BRI A 3
FTam o 3UMEl 1 §AAEA |

Define the power of lens.

Draw a ray diagram for formation of image of an object situated

at a point in between 2 f, and f, distances from the optical

centre of the concave lens and write the nature of the image

formed.

What happens when light is falling perpendicular by to an

interface of two media ? 1+1+2+1=5
OR

Name the two major defects of an eye. Explain causes of their

development and discuss methods of their correction.

1+1+1+1+1=5
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